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Topic:- General Knowledge

1) Which state launched ‘i-Hariyali’ mobile application under ‘Mission Tandarust’ that aimed at increasing the
state’s green cover? /

%mm; o= dgeva & dgd Ims-ghardl diarsa TR = ai- frar foraer aga v & gfa dav
T 8?

1. Punjab / USlTd

2. Delhi / et

3. Goa /Tl

4, Rajasthan / JTSIRYTT

Correct Answer :-

« Punjab / USITS

2) Scheme of Fund for Regeneration of Traditional Industries (SFURTI) was started by central government for
which of the following sectors? /

fFrefafea 4 3 5w 87 ° Fs NeR gRTURIRS ST & U & g it 5t arermr (@@ id ar
THUGYIREISATS) TSI B IR fhar Tan?

1. Agriculture / ?ﬁ

2. Manufacturing / fafamtor

3. Construction / FHTOT

4. Micro, Small and Medium Enterprises (MSMEs) / {&H, 7Y 3R AegH ITH (@W@é}

Correct Answer :-

« Micro, Small and Medium Enterprises (MSMEs) / J&H, Y 3R 7 I9H (@W@g)

3) is being set up in Jabalpur under The Ministry of Culture’s Scheme for Promotion of Culture of
Science (SPOCS). /

o= @1 I fd & TR & e gien (@adiesiiies) & Spfa vy & agd JeayR | T
frarsTET 81

1. Sub Regional Science Centre / JU-&A1g a3 g
2. Science Centre / [aH %%

3. Science Museum / fa3T TUTe

4, Science City / qrey Rt (ﬁiﬂ:{ :lTI'ﬁ)

Correct Answer :-



« Sub Regional Science Centre / JU-&H17 faxH &g

4) Who is the youngest Indian to conquer Mt. Kilimanjaro in Africa in December 2017? /
feamR 2017 # npieT & ydd fHfomeiRl WR 9eTE 31 ard YUH YR 1 82

1. Loveraj Singh Dharamshaktu / ¢TaRTS Rig ﬂfl'slﬁﬂ

2. Anshu Jamsenpa / Nﬂm

3. Madhusudan Patidar / qﬂﬁﬂ:{m

4. Manish Dhurve / 5= ‘{Jﬁ

Correct Answer :-

« Madhusudan Patidar / GG UI¢IGR

5) The first industrial policy statement of India is known as .
HRA T YYH S Hifa sa= U H SHE1 A1 3

1. Village and Khadi plan / Mg 3R EEIFKIEE

2. Industrial Policy Resolution, 1948 / m it W, 1948

3. Bombay plan / it gioT

4. Visvesvaraya plan / ﬁ%%ﬁ'q[ BISEI]

Correct Answer :-

« Industrial Policy Resolution, 1948 / feNfirs :ﬁﬁfw, 1948

6) The roadmap to conserve Narmada river ‘Namami Devi Narmade Sewa Yatra’ was held in which place in
Madhya Pradesh? /

A UG | f5d RIT W el 981 & WR&01 & forg with 3t 7+ Aar arr AsAy smaifora foar wa u12
1. Hoshangabad / BRSNS

2. Maheshwar / TRRaR

3. Barwani / SRS

4. Amarkantak / fFRHTH

Correct Answer :-

« Amarkantak / /AR CH

7) The Coaching trains with Electric Traction were recently commissioned in Itrasi to route. /

TAE E, RS TRA S A HR N P gerA A ant w wiiwe fvar war un

1. Jabalpur / Se[cTYR
2. Rewa / Xdl

3. Satna / Hd-T

4. Manikpur / Wﬂ?



Correct Answer :-

« Jabalpur / SI[eTYY

8) The highest peak of Peninsular plateau, Anamudi, is located on which of the following hills? /

IAgeR TSR F Yaler A1dY, AEYSY F=ferf@a o | fory werdt R fRya 82
1. Anaimalai hills / 3f=TTHTS TgTS!

2. Nilgiri hills / SRR TgTSt

3. Javadi hills / STaTe UgTS!

4. Cardamom hills / BTSHH UgTS!

Correct Answer :-

« Anaimalai hills / 3{=TTHTS UgTS!

9) ENVIS - Madhya Pradesh was established as an ENVIS node by which Ministry of Government of India? /

STAGISTSUY - HH UK 1 STAASMETH 718 & U H YRd WWHR & 5y warery gRT i far war
y1?

1. Ministry of Earth Sciences /
Gt fasi Harera
2. Ministry of Statistics and Programme Implementation /
i 3R BRishH Bl HaATerd
3. Ministry of Social Justice and Empowerment /
AT =T 3R SHTRBTRET FHarerd
4. Ministry of Environment, Forests and Climate Change (MoEFCC) /
TTART, I 3R STary URad HETed (THeisuw
Correct Answer :-

» Ministry of Environment, Forests and Climate Change (MoEFCC) /

iR, o 3R STerary URads AT (THINSUm)

10) Identify the correct answer about National Development Council. /

1Y faTa ufvug & IR # Hel SR &1 uga e

1. Tt was formed in 1952. / $8 1952 H TS d fobam am o1

2. It is a constitutional body. / g Tdh ﬂa‘iﬂﬁ?ﬁ IGEap % [

3. It is chaired by state ministers always. / sﬂaﬁ SEdT Eﬂ'EIIT I 15EgT IR ARSI % |
4. It has been replaced by NITI Aayog. / 9 Hifa ST gRT ufarifid foar man gl
Correct Answer :-

« It was formed in 1952. / 39 1952 H Tfad fpam mar o1



11) Under the Report on Reintroducing Cheetah in India, which site in Madhya Pradesh was recommended as
suitable? /

YR B Fd1 B §7: U 631 31 Rl & agd, 79 1= & $i9 A d &1 Sugad ©u § Ryt far ware
1. Nauradehi Sanctuary/ :ﬁ'ﬂéﬁf SHIRTg

2. Singhori Sanctuary/ ARt siarRw

3. Pachmarhi Sanctuary/ qil'ﬁl'cf[ SHYIRTY

4. Gandhi Sagar Sanctuary/ el YRR 3HIRTY

Correct Answer :-

+ Nauradehi Sanctuary/ ARTCE! STHORUY

12) India-Vietnam bilateral army exercise was held at which place of Madhya Pradesh? /

YRd-faga=y fguehia S=marT &1 aer uexr & o ®i= R smafora far war a
1. Jabalpur / TTAYGR

2. Bhopal / HIOTdl

3. Sagar / R

4. Rewa / Xdl

Correct Answer :-

« Jabalpur / SIe[cTYY

13) Bhopal was awarded The Innovative Idea Award under the India Smart Cities Award - 2018 for its .

WITa & Sfea e Rt s@ig - 2018 Faga & forw g719/29 ansfear geeare wwmfera fosan
Tl

1. Smart Campus / e HIg

2. Smart Class rooms / TTC FATEH

3. SASA Project / YT (THTTHY) I G

4, Integrated Command and Control Centre (ICCC) / Qﬁlﬂﬁ HAM 3R a0 Hs (H’Ig?ﬁ?ﬂ@)

Correct Answer :-

« Integrated Command and Control Centre (ICCC) / Q?f)@_d HHM 3R 0 Fg (foé?ﬂ@?ﬁ)

14) Manas National Park is located in which Indian state?/
A Y1 Jer fobe e | fRua 82

1. Rajasthan / XTSTYTT

2. Gujarat / T[oIR_Td

3. Assam / 3IH

4. Punjab / USITd

Correct Answer :-



o Assam/ 3dH

15) Name the president who was first to use the President’s power to return a bill to parliament. /

wwﬁmmmﬁaﬁﬁmﬁwﬁammﬁ%ﬁmmﬂﬁﬁmwﬁwmﬁmﬁm
i A1

1. Zakir Hussain / STfx @7‘[

2. Giani Zail Singh / M1 9t R

3. Sarvappalli Radhakrishnan / et RMYTH T
4. Rajendra Prasad / X[o& UG

Correct Answer :-

« Giani Zail Singh / 1t oiq g

16) Name the athlete who won the Boxing Gold medal in 36" International Golden Gloves Tournament held in
Serbia in July 2018./

Fers 2018 A wfFar & smaifa 36sRangia Wl qwm gafie (S Mes Toeq or@rs) A sifRiT
# ¥qul ug® Siiaq 91d TYeiic o1 A Jarsu|

1. Alfiya Pathan / 3{fethdl U3
2. Mitika Gunule / T T
3. Varsha Varman / G8T g
4. Divya Pawar / fea mar

Correct Answer :-

« Divya Pawar / f¢a01 qaR

17) Name the maestro in whose honor, a Sangeet Samaroh is organized annually in Maihar, Satna. /

3 SHITE T AT Farsy e a7 # ufa adf Ay, 91 § ve Wiftd 9aRis 31 smdier fear sirar 31
1. Asgari Bai / aﬂwﬁaﬁ

2. Ustad Amir Khan / 3G 3R &

3. Ustad Allauddin Khan / 3¥dlq &I?ﬂE_Eﬁ:T RCIE]

4. Krishnarao Shankar Pandit / SRTT Yh ufgd

Correct Answer :-

« Ustad Allauddin Khan / 3T 31?1|3§ EECIGH

18) Niyatam is formed by NITI Aayog for the purpose of: /
fora t=a & fore ifa smav gRT fRaaw &1 716+ fFar mar g2
1. Providing more financial autonomy to states /

I ol i faxiia Tarad UeH SR

2. Overhauling the grant system to state governments /



1Y A Bt SIS YUt BT SHUTGR BT
3. Streamlining administrative, developmental and legal structure of state governments /
ST R B TR, fABr 3R BT TR ! Joaafyd &

4. Effective monitoring and regulation of state over state governments /

Y A ORI B gHTST TR 3R fafaea|

Correct Answer :-

 Streamlining administrative, developmental and legal structure of state governments /

ST X! B TR, fAhr 3R BT TR & Joaafyd &l

19) Which of the following district of Madhya Pradesh is not selected by ISRO under EPRIS project? /

A N F Frafafed # @ fFa e o Shemsnses uRatem & dgd $3R1 gRT Taf~d =81 far man g2
1. Indore / 3'_@?

2. Betul / éﬂa

3. Sagar / gTR
4. Raisen / T

Correct Answer :-

« Indore/ 3'_@?

20) Which of the following is not a GI tagged product from Madhya Pradesh? /
Frafafea & @ 91 a1 7 w3 o1 sfterg 2 3w T8 82

1. Bell Metal Ware of Datia and Tikamgarh (Logo) / afaar 3R ﬁm & 9 Hed daR (?‘hTh)
2. Molela Clay Work (Logo) / a3 dh (?n'rﬁ)

3. Ratlami Sev / XJATH! 4

4. Jhabua Kadaknath Black Chicken Meat / I3 P SH 1Y DIl I Hie

Correct Answer :-

» Molela Clay Work (Logo) / A o 9 (Fh"'h)

Topic:- General Hindi

1) I - T OIS g Fad e ars?
1. 999 =G T

2. TG g S I

3. 99 & JHE T

4, QU 79

Correct Answer :-

. TEG I



2) FRefv - & forg welt wfYr fasde o1 g
1. GHRYU

2. qHAIEUT

3. JH+IETT

4. T8I0

Correct Answer :-

o UG

3) WA B T T, ATk ¥ Uiq | - & F9 § & 3149 91 PR 82
1. TUD AADR

2. XY 3{ABR

3. SUHT 3ABR

4. IV SADR

Correct Answer :-

. I PR

4) 39 F Y TR AT - GeTak T A P fReei A A s e
1. ARG 1 g TR Y qobet BT

2. AR BT

3. AT TEAT guf g

4. T U1 UGRI

Correct Answer :-

o YIYAT A §H W H I gl

5) fa71 & fore 9t vufaarh ar wss) &t ufds # gfw)
1. faa9, ameR, 3rE|

2. fda9, IR, 315

3. faa¥, IR, 31|

4. f&an, IR, e

Correct Answer :-

. o9, a”R, e@A|

6) 3Tl - &1 9 & & B a1 9! faey e 22
1. UThe

2. b



3. Uhc

4. Yhcl

Correct Answer :-

7) §-SU AT g R A A S AT
1. AR
2. R
3. TR
4. QRIS

Correct Answer :-

8) ATaTd & forg AEt yatgar! el Sreqi @ U 3t gHg|
1. TR, AT, TR |
2. R, T, TARA |
3. WRIR, dTel, TARA |
4, AR, AT, FARA |

Correct Answer :-

. IR, dTd, START |

9) 3ifd - IuI AT vIg P A A BT AT R?
1. AR

2. JTAAR

3. TSR

4. 3fHI3ER

Correct Answer :-

10) TV P T I ATAT F A TP W FA A A BT ATR?
1. iffg
2. 44y
3. qfYgy
4. 944

Correct Answer :-

- 394



11) Uf3T A T @ arar & R e v fe A d s are?
1. Ut

2. UTRITA

3. UIRA

4. TRTATCAT

Correct Answer :-

. YA

12) oiel FUuRy - &1 wrRe g e A a sl arg?
1. 5Td D1 GIH 1 3=91 -1 3@ dTell

2. ST 1 UM T <31 TG aTell

3. 91 B UM &1 3T G- arell

4. STel 1 U 1 ST 3@ dTell

Correct Answer :-

. O 1 U B ST G drell

13) TS - YT A ST Vg FA A A P AT B2
1. 31T

2. UGTS

3. 3MEUITa

4, S

Correct Answer :-

14) JfauT - & forg wet ¥y fa=de «1 gfha)
1. g+ g
2. JA+feT=
3. grH+HaYE
4. gAY

Correct Answer :-

. T+fay™

15) PRI - T EU A A I BT AR
1. R

2. FRAf



3. RIS
4. fARISHt

Correct Answer :-

16) TRYHdT - TG U FF A I HTATR?
1. Fefar

2. ATdd

3. ATy

4, T

Correct Answer :-

17) 3Ha® - 1 9 A A B9 91 9 faay 2reg 32
1. 3B
2. FIR
3. HHW
4, AP IR

Correct Answer :-

18) §RRY Yd YT PR B YR § TR 1 WS TR |

I $1 I1g ISTT & S, TS PRI ANe SRR | - A A A D AT 32
1. A"

2.5 ™

3. IR

4. BB

Correct Answer :-

19) Ut 7T 9 FHav, Widl 799 T
B e d @ o a1 SEPR 32

1. Y ABR

2. gHD ABR

3. 3V 3(TDR

4. IUHT 3APR



Correct Answer :-

. Y HABR

20) IR & THUL T ATEY, 1 Bife T BIS B agal |

4TS TE 2 gRIR 31, e yr aet A e B 11 - AP A AP T e
1. 9l Y

2.5 X4

3. AR

4. POV Y

Correct Answer :-

. IR

Topic:- General English

1) Choose the correct form of tense for the given sentence:

Coffee _ to acquire flavours from its neighbouring plants, which _____ every batch unique.
1. knows, is making

2. knew, had made

3. is known, makes

4. was known, was making

Correct Answer :-

e 1is known, makes

2) Choose the correct form of modal auxiliary verb for the given sentence:
Jim ___ gotoIreland on work for a fortnight next week.

1. will

2. need

3. ought

4. used to

Correct Answer :-

o will

3) Choose the most suitable determiner for the given sentence:

There are basic types of robots: those that are fixed, and those that are mobile.
1. two

2. enough



3. many

4. few

Correct Answer :-

¢ two

4) Choose the option that correctly sequences the following sentences:

. As a result, the shops are closed today.

. Curfew had been imposed in the city.

. No violent incident took place.

. The police was ready to tackle any problem.

AW N -

1.4123
2. 1324
3.2134
4.3142

Correct Answer :-

. 2134

5) Choose the option that best transforms the given sentences into one:
He is very rich. He leads a very simple life.

1. He is very rich, so that he leads a very simple life.

2. As he is very rich but leads a very simple life.

3. Though he is very rich, he leads a simple life.

4. In spite of being rich, yet he leads a simple life.
Correct Answer :-
« Though he is very rich, he leads a simple life.

6) Choose the appropriate conjunction for the given sentence:

Mother I generally go to the market in the evening to buy vegetables.
1. also

2. but

3. 50

4. and

Correct Answer :-

« and

7) Choose the word that is opposite in meaning to the highlighted word given below:



Feet and inches are obsolete as units of measurement in Europe.
1. useless

2. conductive

3. trendy

4. outdated

Correct Answer :-

o trendy

8) Choose the appropriate prepositions for the given sentence:
Anger and confusion rippled ____ the old beggar as he looked ____ the eyes of the policeman.
1. across, at

2. by, for

3. from, over

4. through, into

Correct Answer :-

« through, into

9) Spot the error in the given sentence and choose the option that rectifies it.
What did Harry had in common with Nathaniel?

1. What does Harry had in common with Nathaniel?
2. What do Harry had in common with Nathaniel?
3. What did Harry has in common with Nathaniel?

4. What did Harry have in common with Nathaniel?

Correct Answer :-

« What did Harry have in common with Nathaniel?

10) Choose the appropriate option that rewrites the given sentence in active voice.

The old woman’s umbrella was stolen by the thief.

1. The old woman had her umbrella stolen by the thief.

2. The thief stole the old woman’s umbrella.

3. The umbrella belonging to the old woman was stolen by the thief.
4. The thief was stolen the umbrella of the old woman.

Correct Answer :-

o The thief stole the old woman’s umbrella.

11) Choose the appropriate form of the tense for the given sentence.



Dogs are the gentlest of animals. None more tenderness then dogs.

1. were showed
2. shows

3. show

4. has shown

Correct Answer :-

o show

12) Choose the appropriate articles to complete the given sentence.

I am all for ____ early dinner. Though late, dinner we had at the hotel last night was nice.

1. the, an

2. a, the

3. an, an

4. an, the

Correct Answer :-
e an, the

13) Choose the appropriate prepositional phrase to complete the given sentence.

India won the match
1. in ease
2. with ease

3. of ease

4. by ease

Correct Answer :-

« with ease

14) Choose the option with the appropriate prefix to complete the given sentence.
One’s maturity shows up when one begins to speak unintelligibly with others about serious issues.

1. de-
2. un-
3. non-
4. im-

Correct Answer :-

15) Choose the option that best punctuates the given sentence:

My friend said stay with me over the weekend otherwise I will not talk to you



bl

1. My friend said, stay?”” with me over the weekend otherwise I will not talk to you.’

2. My friend said Stay with me, “over the weekend otherwise I will not talk to you.”
3. My friend said “stay with me over the weekend, otherwise I will not, talk to you.”

4. My friend said, “Stay with me over the weekend, otherwise I will not talk to you.”

Correct Answer :-

« My friend said, "Stay with me over the weekend, otherwise I will not talk to you.”

16) Choose the option that best transforms the sentence into passive voice:
The boy kicked the football.

1. The football was kicked by the boy.
2. The football kicked the boy.

3. The boy was kicked by the football.
4. Football was being kicked by boy.

Correct Answer :-

o The football was kicked by the boy.

17) Choose the option that best explains the highlighted expression:

Are you sure I won't be stepping on her toes if I talk directly to her supervisor?
1. dominating

2. underestimating

3. offending or insulting

4. abusing

Correct Answer :-
« offending or insulting

18) Choose the correct form of verb that is in agreement with the subject:
He _____ of a very good doctor who ____ all respiratory ailments.

1. knows, treat

2. knows, have treated

3. knows, treats

4. knew, treats

Correct Answer :-

« knows, treats

19) Choose the correct form of the verb from the following options in the given sentence:
The bus started moving while she it.

1. boarding



2. was boarding
3. board

4. is boarding

Correct Answer :-
« was boarding
20) Choose appropriate articles for the given sentence:

He has gone on __climbing expedition to Himalayas, highest mountain range in Asia.

1. an, the, the
2.3, the, a
3.3, the, the
4. the, a, the

Correct Answer :-

. a, the, the

Topic:- General Mathematics

1) Ramu adds 50 ml of water to every 100 ml of milk. How many ml of water does he add if there is 800 ml of
milk? /

ufar 100 Rrefieier g & IR s0 fyefieies urt fremar 31 afe soo fircfidier gu g o a5 foram farefiefter urht

1. 800 ml / 800 fHrefieficr
2. 450 ml / 450 fAeiteiieR
3. 400 ml / 400 fAeiieiier
4.200 ml / 200 fAciiciier

Correct Answer :-

« 400 ml / 400 fHelciex

2) How many matchboxes of size 4 cm x 3 cm x 1.5 cm can be packed in a cardboard box of size 30 cm x 30 cm x
20 cm? /

30 JHY x 30 FHY x 20 A MHR TTA T P TP 1T H 4 THT x 3 AT x 1.5 T PR aral AT & fpaq
fe=a @) O fur S IPpar 82

1. 500
2. 1000
3.750
4. 1100

Correct Answer :-

» 1000



3) A motor boat travels at a speed of 18 km per hour. How much time will it take to go 90 km? /
TS HieR dic Ufd be 18 foi oY ara & g st 81 90 ot 93 & g fpa=n wwa afte
1.0.5 hour / 0.5 ©c

2.5 hours / 5 ©¢

3.3 hours /3 ©¢

4,2 hours/Z‘Ei%

Correct Answer :-

« 5hours/5©e

4) Zero is the for all rational numbers. /

T, At uRg densi s g R

1. additive inverse / JNTS Ufaelid

2. additive identity / GTO FAGHAT (ANTS UgdH)
3. multiplicative inverse / JUTHDP IS

4. multiplicative identity / U FAGHT (0TS Uga)

Correct Answer :-

« additive identity / TNTS G4THT (@NTS TgAH)
5) Find the cube root of 78402752. /

78402752 BT U1 FTd Be |

1. 534

2. 436

3.428

4,432

Correct Answer :-

o 428

6) A shopkeeper buys goods worth of Rs. 7820 and sells them after increasing its price by 25%. Find the new
price. /

TS GHMGR 7820 TUY HT ATHM WAl § AR TP B 25% TP T¢I & 91¢ 3¢ 99 ¢al § | 718 piad
A B

1. Rs. 8885/ 8885 $UY

2.Rs. 9775/ 9775 24U

3. Rs. 1955/ 1955 24U

4. Rs. 9255 /9255 %UU



Correct Answer :-

e Rs.9775/9775 94U

7) Evaluate: / Waﬁ' :
51 T (3 x (1) = (=2) x 7]

1.2

8) If the abscissa of a point is -10 and the ordinate is -7, then the point is: /
gfe e fig &1 Yoiid -10 a1 Hife o1& -7 3, a9 fig &:

1. (7,10)

2. (-7,-10)

3.(10,7)

4. (-10,-7)

Correct Answer :-

9) Give the expression for the following:

p is multiplied by 3 and 2 is subtracted from the product. /

p 1 3 T IUTT fraT STaT 8 3R UG | 2 e Sirar g
1. p-3-2

2.2-3p

3.3p-2

4. (px3x2) -2

Correct Answer :-

10) One of the sides and the height to that side of a parallelogram are 4 cm and 3 cm respectively. Find the area of
the parallelogram. /

TP TR g $ TP Yol 3R FHATS HH: 4 AT 3R 3 J & | FHHIGR gy &7 &% d Jd S

, 18cm?/18 g



5 20 cm?/20 H#H?
;. 6em?/6 FHP

4 12 em? /12 FH?

Correct Answer :-
12 em? /12 2

11) A 7m 20cm pole casts a shadow of length 8m 30cm. Find the height of a tree that casts a shadow of length 6m
64cm, under similar conditions. /

7 Hiex 20 G @t aren U Ui, s HY 30 A @aTE @) ST 94Tar 8 | IHE uRfRAfaa) & 9gd, ST i 9
a1 FTd PIRE Sl 6 HY 64 A dTE B DT I B

1.5m 86 cm/ 5 | 86 It
2.5m 76 cm /5 T 76 T4t
3.5 m 80 cm / 5 HT 80 Tt
4.6 m 90 cm / 6 |t 90 T

Correct Answer :-

« 5m76cm/5H 76 TH

12) Find the area of an isosceles triangle whose equal sides are 5 cm each and the base is 8 cm. /

TS qufgarg Y &1 &A% a J1d ST FoRTeT sRIaR Yo 7l 5 99t 7 SR SMYR 8 94 71
1. 12 sq.em / 12 o1 St
2. 20 sq.cm / 20 T Tt
3. 30 sq.cm / 30 I Tt
4.15 sq.em / 15 ¥ QAT

Correct Answer :-

e 12sq.cm/ 12 aif it

13) M is the midpoint between -7 and 3. Write the integer for M? /

-7 3% 3 & dfa M TP Hefag 81 M & fog quife fora

1.0

14) Which one of the following numbers is the smallest? /



Frafafea & & w19 @ e ged 91 32
1. 98797
2.97978
3.97987
4.97897

Correct Answer :-

« 97897

15) 1fx= 100, then what will be the number of zeroes in x*? /

gie x =100, df x* # s &7 F&AT Thadi giRir?

1.4
2.6
3.8

4. 10

Correct Answer :-

16) Solve: /Gl @

=32
6
1. 3

2. 6%x2

17) Factorise: / H;I'U'IFIE'B’ Fi-
1—2xy— (x*+ y%)

N (l+x—v)(1+x+y)
5 (A+x—y){1—x+7)
3 (I+x+yv)(1—x+7y)
4 (1+x+v)(1—x—7v)

Correct Answer :-

LA+ x+y)(1—x—y)



18) Ram started at 10.15 A M. and reached the station after B%hou.rs. At what time did he reach? /

A o1 10.15 9X fdher 3R 31 9 & 9 €U Tl a5 e AT T2 Tgan

1.2.00 P.M. /91 2.00
2.3.30 PM. /919 3.30
3.1.45 PM. /91 1.45

4.1.45 AM./HUId: 1.45

Correct Answer :-

e 1.45PM. /9 1.45

19)  What should be taken away from SpZ — 9p + 5 to obtain 2p3 + 4p? + 207 /
2p° +4p? + 20 UTtT FeT & T 5p2-9p + 35 H & Thaem Shrerar =nfgu?
—2p?+4p? 9p +15
—2p*+p? +15
Tp2+8p -13
4~ Pt 9p-15

Correct Answer :-

-2p*+p? 9p-15

20) 1, given fraction, if the numerator is multiplied by 3 and the denominator is increased by 1, we
get E . But if the numerator is increased by 4 and the denominator is decreased by 3, then we
get % Find the fraction? /

& o Bewt &, afg sfer 1 3 F o faar e qwr e A {1 Fr gy 7 T, ar
g E uied BT ol oifhd afe 3791 A 4 #r ITE Fr Fw gAr g F F 3 Fr FAT Fr
T, ad Eﬁi uTcd giaT g1 filed 71 #i)
@
1. 25
E
5 52
E
3. 23
E
4, 81



Topic:- General Science

1) The gas which turns lime water milky is: /
g e o o % e v & o w3 B

1. Nitrogen dioxide / TTS¢IoT SR RISS

2. Carbon monoxide / BT ﬁﬁ&ﬁams@'
3. Carbon dioxide / BT SRIHRIZS
4. Oxygen / it

Correct Answer :-

« Carbon dioxide / BT 31_5'31\"@133

2) Milk producing female cattleiscalled__ ./
'Y SUTCS HIeT Haht B HEd gl

1. Cattle husbandry /Ila'-‘ZﬁUW

2. Draught animal /ﬁﬁaﬂﬁl (S0 THH)

3. Milch animal / U= UY] (e ufmen)

4. Animal husbandry / URUTeTT

Correct Answer :-

« Milch animal / GURE U] (FBred TfTa)

3) Which one of the following features about vegetative propagation is not CORRECT? /
Ffd yaeH & I § Frafafed fadvarst # & o149 9@ Suga 78 82
1. It helps us to get different combinations of different coloured flowers. /
78 g¥ fafta ¥ wal & faftrs Tasml & U o & Heg SRl g
2. Seedless varieties of plants can be grown by this method. /
Uil BT sitoRfed fore! o1 39 fafyr & I o Yaver 5 |
3. Itis a faster and cheaper method of growing new plants. /

g ¢ N & T BT T aw 3R T&T RSB 8 |

4. It is a kind of asexual reproduction. /

T8 U UbR BT 3(AIeh ol 2 |

Correct Answer :-

« It helps us to get different combinations of different coloured flowers. /

Ig g faftr i wal & fafiid et & urd &= § e ST g |

4) Which of the groups is represented by incorrect organisms? /

fFrafafEa o @ e ave &1 7ad sial g1 wfafafRe forar srar 22



1. Mammalia — Bat, Dolphin, Whale /ﬁﬂm- EUUICH E—'ﬁ%ﬁ, %Ff

2. Echinodermata — Starfish, Sea Cucumber, Sea Urchin /ET:FIET-ﬁEﬁ?T- E’Rﬁﬁ-‘ﬂ, Wﬂﬂm “vTﬂEQI Gﬁ%ﬁ
3. Amphibia — Toad, Salamander, Chameleon /Qﬁﬁﬂ%’cﬂ- E;Ig, aﬁ'l'a%{ ﬁ?ﬁ_@

4, Mollusca — Unio, Pila, Octopus /W— qﬁﬁ,tnsmaﬁaﬁw

Correct Answer :-

« Amphibia — Toad, Salamander, Chameleon /mﬂ'{- a@’, aﬂﬁ%{ RfTe

5) Which of the following muscles has the given criteria: spindle shaped, without any striations and uninucleate? /

Wﬁﬁmmﬁmwmmmﬁzﬁ%ﬁmﬁmwmeﬁvmﬁw

1. Muscles of the hands /BT?-ﬁaﬁaTZﬁ
2. Involuntary muscles / eﬁf%wﬁ?ﬁ
3. Cardiac muscles /Eﬂ'qﬂi‘{ﬁ

4. Voluntary muscles / Ufese OfY

Correct Answer :-

« Involuntary muscles / 3fwse Uit

6) Calculate the number of Mg ions present in 0.019g of magnesium chloride. [atomic mass of Mg = 24] /
AT FRISS & 0.019 TTH T IURRIT Mg ST &1 TWAT B AT B | [Mg BT URHTY FSTH = 24]

. L144x 1022

5. 120x 10%

. 20
3. 120=10

77 23
4 6.022x 10

Correct Answer :-
1.20x 102

7) The atomic number of magnesium is 12 and mass number is 24. Which one of the following is the correct

representation of the ion formed from it and its valency? /

AR Ft Ry W@ 12 3R g w@ 24 g1 Faferf@a § ¥ 9 a1 53 A g sma o1 9d
Ao 8 SR IS Tuledar T 82

1 Mg?*; valency =2 / Mg, §alSiehar=2

) Mg+ ; valency =6 / Mg?*, §alaidhdl= 6

3 Mg3*: valency =5 / Mg3*, §alatehdl = 3

4 Mgt valency =3 / Mg, Galaiahdl= 3



Correct Answer :-
Mg+ : valency =2 / Mg, §alichdr=2

8) The chemical formula of lime water is: /

A & T BT AT G 8
1. CaO
, CaCOs

3 CE.(HC O_::IJ
4. CEJ:O H}:

Correct Answer :-

9) The basic structural and functional unit of heredity is: /

A RIFA B Ty TS SR YUPTITETD BT 7 8:
1. Nucleus / T

2. DNA / ST

3. Chromosome / T[URTA

4. Gene / S

Correct Answer :-

. Gene/\_rﬂ:f

10) The speedometer of the car shows 60 km/h. Now the odometer is set to zero. After 30 minutes, what will be the
odometer reading if the car is moving with a uniform speed? /

PR BT WIS 60 fH/eer fearar 31 3@ sishiier I W A< 81 30 fiFe & 31g, hshifiex &1 ureuis
&) Fa1 81, U PR THwuE ITd | T4 W 7?2

1. 30 km / 30 fop et
2. 90 km / 90 it
3. 120 km / 120 foreft
4. 60 km / 60 fopeit

Correct Answer :-

« 30 km /30 fBHT

11) The carbohydrate that can be digested by ruminants but not by humans is: /
PrargTsec ford JITe! B a1a URISHT GIRT U= ST Gl @ dAfeh HIFd gRT 781, f 8

1. Glucose / @Tﬂ
2. Starch / T



3. Cellulose /@ﬂ?ﬁg
4. Lactose/aaa\_ﬂ(glilﬁ B )

Correct Answer :-

+ Cellulose / @ﬁ?ﬁﬂ

12) Identify the disease that is not caused by virus. /
AT & PRI A g1 a1l SR ggag|

1. Typhoid / 33 SR

2. Influenza / SURGISIT

3. AIDS / U€H

4. Dengue fever / é‘l@@ﬂ

Correct Answer :-

« Typhoid / 33 &R

13) What happens when an electric current is passed through the copper sulphate solution? /
T BT § 919 HIR Tebe [T & A1y | U faggd YR yarfsd &t Sl 82
1. Copper sulphate is deposited on the plate connected to negative terminal of the battery. /
PIR Jhe, et & BUTHAS a0 I JI we R Fafdd g Sar g1
2. Copper is deposited on the plate connected to positive terminal of the battery. /
PR, 9 F YIS Hd A et e R g g srar 3|
3. Copper is deposited on the plate connected to negative terminal of the battery. /
HIR, e S FUTHD efifa I Ft we W Fafd g s gl
4. Sulphur is deposited on the plate connected to negative terminal of the battery. /

TR, Jeit & BUTAS <fHid ¥ Ja! we R Fafdd g S g

Correct Answer :-

« Copper is deposited on the plate connected to negative terminal of the battery. /

PR, 91 F BUTAS <Hd T Jo! We R Hafa g S g |

14) What happens as the speed of air increases at a place? /
1§41 € 19 U T8 UR g4l B! °ITdd dgdl 8?2

1. The temperature at that place increases. / 3¥ SI¥Tg U dTUHIA d¢ Sl %I

2. The humidity at that place reduces. / 3¥ SI7[g UR 3 'r;ﬁa DH Epf ST %I
3. The pressure at that place increases. / 3¥ SI{Tg UR qld &g SIIdl gl

4. The pressure at that place decreases. / 3 SI1[g UR qId hH Eupf SITdT %I

Correct Answer :-

« The pressure at that place decreases. / 3 SI'[g UR qld ®H HESIG % I



15) What would be the mass by volume percentage of a solution which is 20% mass by mass? (density of the
solution is 1.02 g mL™1) /

TS Ao ST SoaH=/3MId= Ufa=rd T 81T, fSTHeT Soad=/aaT 20% 82 (Reud #199@ 1.02
fireft-19)

1.20.4%

2.22.3%

3.15.3%

4.25.3%

Correct Answer :-

« 20.4%

16) In the given English alphabets H, I, B and C, which of them produces the same mirror image? /

&2 M aidsht & &Ry H, 1, B 3R ¢ A 19 A 3i&R A guul yfafdd 91d 82
1.Band Conly/ Pad B 3R C

2. Cand H only / $dd C 3R H

3. B and H only / $dd B 3R H

4.1and H only / dd | 3R H

Correct Answer :-

. IandHonIy/Wl?fﬁTH

17) Which of the following statements is CORRECT about a black surface? /
TP HTdl 9as & IR A fFAfafad § 8 o149 91 53 981 82
1. It absorbs less heat energy and radiates more heat energy. /
g HH ST Holl SaNT 3R AP ST Hof [dobied Il g
2. It absorbs less heat energy and radiates less heat energy. /
TG HH S S0l RN SR FH SN Sl [ Fell 21
3. It absorbs more heat energy and radiates more heat energy. /
g S ST Hul AR 3R D FHAT Sl fabRd Pl 5l

4. It absorbs more heat energy and radiates less heat energy. /

Tg 3PS ST So1l T 3R HH FHT Sl [debiRd Bl g

Correct Answer :-

« It absorbs more heat energy and radiates more heat energy. /

Tg S ST ol T 3R 34fH FHOAT FHolf fAHRT Bl B

18) Human ear cannot detect sound frequency of ./



UHa S Pt @i MgRT BT a1 A& @ BT 3|
1. 2000 Hz / 2000 o1

2. 500 Hz / 500 8T

3.200 Hz / 200 8¢

4. less than 20 Hz / 20 ¢Sl 9 &1

Correct Answer :-

« less than 20 Hz / 20 E?.f\_ﬂam

19) Which one of the following processes is not accompanied by a chemical change? /
faeaferfea aframstt & & Fi9 @ v& T TRadT & w0 a8l grdt 82

1. Rusting of iron / Fﬁ% H ST AT

2. Digestion of food / IS &1 U

3. Appearance of lightning when it rains / IR B W forelt &1 TH&H

4. Formation of clouds / STl o AT

Correct Answer :-

« Formation of clouds / STGa T T

20) If the forces of 25 newtons and 10 newtons are acting vertically upward direction and vertically downward
direction on a body respectively, then the magnitude of the net force acting on the body is: /

Tfe 25 e 3R 10 e F 70 TP P W HU: d99d SR 31 3R 3R dgad -2 @1 i fo=m o
PRI B, °f fera R wria 3 9a 1 ufamr e gim:

1. 35 newtons / 35 Y
2. 25 newtons / 25 c
3. 15 newtons / 15 <c
4. 10 newtons / 10 <

Correct Answer :-

« 15 newtons / 15 <Y+



